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2N
X ZH -
L= B

el

SA - BB B () - MM - BES Ol &t o il 2

DIZITtESSZZAIE B#SHl XA( 4,300 4,300 0
= 4,300

201 €2l 1,000 1,000 0
= 1,000

01 At 22l 1,000 1,000 0
OIS I LA ¢ 1,000
= 1,000

301 LEEAS 3,300 3,300 0
= 3,300

09 HALAHIXI &3 3,300 3,300 0
OUAESHA Ql2t0l 3,300
= 3,300

A2 AR EXIAIE K& (=21) 6,051,200 0 6,051,200
= 4,880,000
< 1,171,200

403 XIS E X201 & 6,051,200 0 6,051,200
= 4,880,000
< 1,171,200

01 X SHHX2E= 6,051,200 0 6,051,200
OYRXAE EXXA 6,051,200
= 4,880,000
< 1,171,200

OIMISX X2 (E2) =H2 83,850 0 83,850
= 64,500
S 19,350

403 XM SA=0l& 83,850 0 83,850
= 64,500
< 19,350

01 X SHMA2E X 83,850 0 83,850
OEE FYdl&E S 83,850
= 64,500
= 19,350

FHAAHES0ISAIE BZMA 60,000 35,400 24,600

308 XXM SOIA 60,000 35,400 24,600

01 IXNHHBNEES 60,000 35,400 24,600
OaAU3IIE s&EAX 60,000

OIMSX HHSsEx =8 47,000 28,000 19,000

201 Let24d] 43,000 28,000 15,000

01 At 2teltl 23,000 18,000 5,000
OOIMEX e 23,000

03 & AL2 I 20,000 10,000 10,000
OZ3 T OIMHX 20,000




2N
X ZH -
L= B

el

SA - BB B () - MM - BES Ol &t o San HmEET
202 Od4dl 4,000 0 4,000
01 = LHA YI 4,000 0 4,000
ODMEIUNS20F 2= 4,000
OTMISHX M2 & 22l M2 AIdEHE 29 150,000 0 150,000
207 A RO H| 150,000 0 150,000
01 289 150,000 0 150,000
OO0IMSR M2 & 22 M2 AMEHE Y 150,000
H=AHU E=(21) 154,843 107,520 47,323
= 138,277
< 16,566
403 XIS S X201 & 154,843 107,520 47,323
= 138,277
< 16,566
01 XXM 22 = 154,843 107,520 47,323
OM=sAHU WHMAEXH XA 154,843
= 138,277
< 16,566
I8 MN=A B9 E3AME(=22) 134,640 0 134,640
= 112,200
= 22,440
403 MHXSHHSA=0l& 134,640 0 134,640
= 112,200
< 22,440
01 X ESHHMA=LE L 134,640 0 134,640
ONEE N=sA2LH E2 134,640
= 112,200
< 22,440
T AR LERAXY UIIMNL(=2) 840,000 480,000 360,000
= 840,000
403 XIS E X201 & 840,000 480,000 360,000
= 840,000
01 XM A2EE 840,000 480,000 360,000
OE2 MHIASHX M2ZAHS 840,000
= 840,000
I HENA H2Z(=12) 12,551,054 4,377,343 8,173,711
= 10,205,123
< 2,345,931
308 XtXIEHHSOIA 12,551,054 4,377,343 8,173,711
= 10,205,123
< 2,345,931
01 X HHILEXS 12,551,054 4,377,343 8,173,711
O3 ZJIHX XA 7,201,267
= 6,001,056
< 1,200,211

~




2A: 230
M oy 2™ (Z/U0I)
Chel: U E Al L 2t (chel & 9l)
= — = s
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
OFFANSX WANZBEX &X 1,348,230
= 1,037,100
S 311,130
OLPG TN = X & 61,057
= 46,967
= 14,090
OPM - NOXSAI M2 & X &X 994,500
= 765,000
S 229,500
OAEINIH MHAMBEA EX 792,000
= 660,000
= 132,000
OQAEINAH HTWH X2 594,000
2 495,000
S 99,000
OLPGRt= Xt A XY K& 1,560,000
= 1,200,000
S 360,000
oglol Stz LPGat & X (=21) 731,239 520,000 211,239
= 562,491
< 168,748
308 Xt &M S 01 E 731,239 520,000 211,239
= 562,491
S 168,748
01 XM B EES 731,239 520,000 211,239
OO0igl0l S&txtzFol LPGR M2 X2 731,239
= 562,491
= 168,748
DIMSX SEHE MEZAXNIAL-Z&(21) 2,444,000 0 2,444,000
= 1,880,000
= 564,000
308 XXM SO0I& 2,444,000 0 2,444,000
= 1,880,000
= 564,000
01 XM BaEES 2,444,000 0 2,444,000
ozA" 29 2,444,000
= 1,880,000
S 564,000
DMK SEHE HSLANRAL-XE2(2D) 260,000 0 260,000
= 200,000
S 60,000
403 TtXI M SA=01A 260,000 0 260,000
= 200,000
== 60,000
01 X SHHX2E = 260,000 0 260,000
OZAIEH 7 260,000
= 200,000




SN B
JM: o18d 2 (&#E8/001)
Chel: QU E A& 22 (&)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| < 60,000
CEERA S2EMS HSAAY” RF(Z D) 735,980 0 735,980
= 443,061
< 292,919
401 Al HI R 201 I 735,980 0 735,980
= 443,061
< 292,919
01 A& HI 715,980 0 715,980
O HME ctEItnet = 715,980
= 443,061
< 272,919
02 2eltl 20,000 0 20,000
O2dME &t=Eotet 2= 20,000
Metsd e (2E/HIIZ) 42,967,987 15,268,796 27,699, 191
= 29,353,270
< 13,614,717
MENH HII2 S2XHel 8,753,387 5,641,785 3,111,602
= 7,807,270
< 946,117
Hol2e ¢tEA el 531,000 388,600 142,400
201 Let24d] 5,000 0 5,000
02 2324l 5,000 0 5,000
Ost=HII=82 H3lH| 5,000
202 O4dl 8,000 8,000 0
01 = LH 4 Hi 8,000 8,000 0
ONA&& L2l FRFA 8,000
308 XXM SOIA 518,000 380,600 137,400
01 IXNHHBNEES 518,000 380,600 137,400
OZASILANU 2 518,000
St& L ot MY D FE(=21) 589,114 481,900 107,214
= 522,000
< 67,114
403 A X EHS =0l A 589,114 481,900 107,214
= 522,000
< 67,114
01 X SHHA2E= 589,114 481,900 107,214
OoGt&ot= At 589,114
= 522,000
< 67,114
Hs2%2I)I8 =HMde 23 (2HFXA) 187,253 124,835 62,418
403 MHXSHHSA=0l& 187,253 124,835 62,418
02 S 2S0CHet A= X 2 & AL H 187,253 124,835 62,418




SN BAD
Bu: MBHY N (BY/HIIL)
el MBI HOI2 SBH (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
OsALYE, ST =HAYE 223 187,253
sEHHYE =HBAZ2 XA (=) 245,800 230,000 15,800
= 245,800
308 XXM SO A 245,800 230,000 15,800
= 245,800
01 IXNHHBANEES 245,800 230,000 15,800
OsZEHHE =4l X& 245,800
= 245,800
SsdGtE =5 A (=1) 390,750 402,390 A11,640
= 230,000
= 160,750
403 A X EHS =0l A 390,750 402,390 211,640
= 230,000
= 160,750
01 X EHHMA=E L 390,750 402,390 A 11,640
SZEHH Y Ss8oE &= 390,750
= 230,000
< 160,750
Zd0IE HAXA(=21) 6,809,470 4,014,060 2,795,410
= 6,809,470
403 Mt SHHSA=0l& 6,809,470 4,014,060 2,795,410
= 6,809,470
01 HXSHMA2E X 6,809,470 4,014,060 2,795,410
OL=Zd0lE HMelbl & K& 6,809,470
= 6,809,470
HIOISHM2ANEES 34,214,600 9,627,011 24,587,589
= 21,546,000
< 12,668,600
MYl A2ZAIE HX(=21) 10,295,300 3,764,600 6,530,700
= 6,056,000
< 4,239,300
403 X SHHE A0l & 10,295,300 3,764,600 6,530,700
= 6,056,000
< 4,239,300
01 XM A=2EE 10,295,300 3,764,600 6,530,700
oMedl A2AE EX 10,295,300
= 6,056,000
< 4,239,300
HISIMINE X ZHl A (2D) 427,700 0 427,700
= 329,000
< 98,700
403 A X EHHS =0l A 427,700 0 427,700
= 329,000
< 98,700




2N
X ZH -
L= B

el

5 - 4
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2

01 HXSHH =R 427,700 0 427,700
OHIA M X FHbl 427,700
2 329,000
< 98,700

SISHIAAU0I2ItASH AFH(=1) 6,285,000 3,276,100 3,008,900
= 5,176,000
= 1,109,000

403 TtXI M SA=01A 6,285,000 3,276,100 3,008,900
= 5,176,000
= 1,109,000

01 XM IHE 2 x 6,285,000 3,276,100 3,008,900
ORI EH A HOIL2ItASH AFSY 6,285,000
= 5,176,000
= 1,109,000

M T sdH X XNE(22) 168,300 0 168,300
= 99,000
S 69,300

403 AR SHHMS K201 H 168,300 0 168,300
= 99,000
S 69,300

01 HXHH =R x 168,300 0 168,300
OdENH =dE &X 168,300
= 99,000
= 69,300

sSHEHJIISHM2AE 8X(=1) 2,650,000 1,000,000 1,650,000
2 700,000
= 1,950,000

403 TR M SA=01H 2,650,000 1,000,000 1,650,000
2 700,000
= 1,950,000

01 HXSHH =R E 2,650,000 1,000,000 1,650,000
OsOHHEHII=XAE £X 2,650,000
= 700,000
& 1,950,000

e suotyg £X NA(=1) 136,500 145,911 A9,411
= 105,000
S 31,500

403 TtXI M S A =01 A 136,500 145,911 29,411
= 105,000
= 31,500

01 XM 2= 136,500 145,911 A9,411
OdEMY I ZLHE HEBAIE £X 136,500
= 105,000
= 31,500

MEHIIS HEAE EX(=21) 11,688,400 750,000 10,938,400




2AM: 2F

MM MEtstA M (SH/HIIS)
e HIISXHEAEES (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 7,579,000
& 4,109,400
403 XX SHHS K20 & 11,688,400 750,000 10,938,400
= 7,579,000
&< 4,109,400
01 XIS AE2E X 11,688,400 750,000 10,938,400
OMEHII S HEAE &X 11,688,400
= 7,579,000
& 4,109,400
SAESFH HII2 HM2AE EX(=21) 2,563,400 690,400 1,873,000
= 1,502,000
=} 1,061,400
403 XX SRS K20 & 2,563,400 690,400 1,873,000
= 1,502,000
& 1,061,400
01 AXESHHI=2E X 2,563,400 690,400 1,873,000
OSAMZER HJII=2 M2A&E &K 2,563,400
= 1,502,000
& 1,061,400
2 AEH(SH/HIIS) 3,000 3,000 0
lsst st e 4 F& 3,000 3,000 0
A =4 MENH =4 3,000 3,000 0
201 et 9| 3,000 3,000 0
01 AR 22l ] 3,000 3,000 0
ostdsMd 4 L oG 2¢ 3,000
NoHstALE M (8H/XHAH) 7,891,322 9,409,089 N1,517,767
= 3,250,940
= 4,640,382
[HEE BN U AL &5 4,906,000 6,689,600 N 1,783,600
= 1,569,000
= 3,337,000
fHErd 2 M2 207,000 207,000 0
202 044l 7,000 7,000 0
01 2L I 7,000 7,000 0
OXNHEAHAZOF R2F&X 7,000
307 2iz2tol & 150,000 150,000 0
05 QIZ2tRE 2 150,000 150,000 0
OXNHEESH 29 150,000
308 MXISHMSOIA 50,000 50,000 0
01 IXHHIMNEEXTZ 50,000 50,000 0
OASHH=S MEfI2EBEXA 50,000
KNHSAEN Ol AL (HEH 975,000 0 975,000




2M: 33

H: st ABSH™(SF/AA)

ol RolEE SR U AM HE (B9 ®R)
- _ _ RE]

SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
403 XX SHHS K20 & 975,000 0 975,000
01 AIXISHHMA=Z2E X 975,000 0 975,000

OER ZHNSF20|4H HS(HEH 975,000

T A MEHSAIZ2F ZAALYH (HEH 1,392,300 0 1,392,300
403 XX SHHS K20 & 1,392,300 0 1,392,300
01 XIS A=Z2E X 1,392,300 0 1,392,300

O™ T Al MEHSAIZ2F ZHANS(HE) 765,000
OSol TAl MEHESAZ2t ZAHAANH(HEH) 627,300
2IIME 252 X4 (=2D) 780,000 780,000 0
= 650,000
&< 130,000
403 XX SHHS K20 & 780,000 780,000 0
= 650,000
== 130,000
01 XIS A2 X 780,000 780,000 0
O Il MEIES=Z 720,000
= 600,000
o=} 120,000
OEFZ 2 et ANHD sHotsd 60,000
= 50,000
& 10,000
DMZ MEHHEN WNESEE(21) 400,000 400,000 0
= 300,000
== 100,000
308 XX SHHSOIH 400,000 400,000 0
= 300,000
& 100,000
01 AIXSHMEMNEX= 400,000 400,000 0
O =2INZEFMHASA nsZT2 ) I 400,000
= 300,000
= 100,000
AMEIZ2ZXYE XY L S4(=21) 284,700 284,700 0
= 219,000
& 65,700
308 XAHXIGHH SO0l & 284,700 284,700 0
= 219,000
& 65,700
01 AIKISHHENEXZ 284,700 284,700 0
OME 22X XNE & 4 284,700
= 219,000
= 65,700
FAad BSFPUEIZ NS 29(=21) 286,000 286,000 0
= 200,000
= 86,000




fN: 23
HF: NS EN(2F /)
el UoEd B8 2 Ad &3 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
307 glz2tol & 286,000 286,000 0
= 200,000
< 86,000
02 PIZHEHAHE L 286,000 286,000 0
O&FAY &dus T2 XA 286,000
= 200,000
< 86,000
SAILMENH =4 (=21) 156,000 0 156,000
= 120,000
< 36,000
403 MtXISHHE X201 & 156,000 0 156,000
= 120,000
< 36,000
01 XM A=2EE 156,000 0 156,000
OZAAMENH =4 156,000
= 120,000
< 36,000
gAE SXNEA ST 22 (21) 104,000 78,000 26,000
= 80,000
< 24,000
308 XtXIEHH SOl A 104,000 78,000 26,000
= 80,000
< 24,000
01 HXNHHNBHEELS 104,000 78,000 26,000
OEAMZ SXNETA AEEZ20H X2 104,000
= 80,000
< 24,000
EXE sNESXY 2l 50,000 50,000 0
308 XX EHSOIA 50,000 50,000 0
01 HIXNHHNBNEELS 50,000 50,000 0
OBNESXNY FUXZA 50,000
A EHA SaEs X 8,000 8,000 0
307 glz2+ol & 8,000 8,000 0
02 HAFHAANFEE 8,000 8,000 0
OAt2l &M s2&8s K& 8,000
MBOLY 2 & XHItsst g™ =8 263,000 33,000 230,000
201 Let24d] 8,000 8,000 0
01 At 2teltl 8,000 8,000 0
os=2s &2 8,000
207 A& H| 200,000 0 200,000
01 228 200,000 0 200,000
OM2X ZEACMESOALHETSE = 200,000




2 8H
H: st ABSH™(SF/AA)
ol RolEE SR U AM HE (B9 ®R)
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 55,000 25,000 30,000
02 QIZHA AAIE E X 25,000 25,000 0
Odfe dAdvnstmz ) 299 25,000
04 CIZ2tSH AFALS B X 30,000 0 30,000
OCBDE 3| A=A 30,000
Ol s - AlE B 22 2,985,322 2,719,489 265,833
= 1,681,940
= 1,303,382
OfM=EE Iofue(=1) 1,077,322 940,822 136,500
= 867,940
o= 209,382
403 XX S M S X201 & 1,077,322 940,822 136,500
= 867,940
o= 209,382
01 XS A2E X 1,077,322 940,822 136,500
OO0t == mloHoe 1,077,322
= 867,940
& 209,382
MBS ZE2|HS X (=2D) 88,000 88,000 0
= 60,000
= 28,000
308 XHXIEHSOIA 88,000 88,000 0
= 60,000
= 28,000
01 AIKSHHEMNEXZ 88,000 88,000 0
OMSCIAN Zte| Al 88,000
= 60,000
o 28,000
OS2 PXACMEH 29 (=2D) 480,000 446,667 33,333
= 144,000
& 336,000
307 QI2t0| ™ 480,000 446,667 33,333
= 144,000
&< 336,000
02 QI2tAAMAIE E =X 480,000 446,667 33,333
O0tMES=2 X2 dH 89 480,000
= 144,000
& 336,000
Ot S - A2 235 400,000 400,000 0
308 XX SHHSOIH 400,000 400,000 0
01 AIXSHMENEXZ 400,000 400,000 0
OOM=EZ TIolEa N 400,000
MEfH DRSS HHAIL 200,000 200,000 0




2M: 83
HF: NS EN(2F /)
& Otds - A2 ES 22l (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
308 X EHSOIA 200,000 200,000 0
01 HIXNHHBHNEELES 200,000 200,000 0
OMEN A WSS HMAHASY 200,000
OISHYRA MEfWtE HMA(=2D) 600,000 600,000 0
= 500,000
< 100,000
308 XXM SOIA 600,000 600,000 0
= 500,000
< 100,000
01 AXHHBISEES 600,000 600,000 0
Ofisd &3 3 HAZ MA 600,000
= 500,000
< 100,000
NAXAEXIZ2XNA(=1D) 44,000 44,000 0
= 30,000
= 14,000
308 XtXIEHHSOIA 44,000 44,000 0
= 30,000
= 14,000
01 HXNHHNBHELS 44,000 44,000 0
OMAXIAEE I 2K~ 44,000
= 30,000
< 14,000
MEfH WS M2 X AL (=2 12) 96,000 0 96,000
= 80,000
= 16,000
308 XX EHSOIA 96,000 0 96,000
= 80,000
< 16,000
01 HIXNHHNBNEELS 96,000 0 96,000
OB WS MH X 96,000
= 80,000
< 16,000
Aoz 225 22 (sZ/s#8325d0) 547,500 537,000 10,500
= 175,000
< 372,500
= TE3d 2l 547,500 212,000 335,500
= 175,000
< 372,500
= TEISY 2g ¢ 22 20,000 20,000 0
201 24l 6,000 6,000 0
01 At 22l 6,000 6,000 0
O3d <&z 24 6,000
202 (44l 9,000 9,000 0
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